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�� �$�,*% $ +%9 �,$�"$%9 6%2%1+%9 +�$,*'$*%

��)�%��� ������"� -�����*�
��)�����a "���������

��"��'���"�
��#�����

:'����� �������*���� ���"����� 6.6742 x 10-11 m3 kg-1 s-2 1.5 x 10-4 ��3)�4�3�

��"��'���"�

	�����$�)�� ��"�� ���"����� 8.314 472 mol-1 K-1 1.7 x 10-6

!)������ ���"����� 6.626 0693 x 10-34 J s 1.7 x 10-7

��)*#����� ���"����� 1.380 6505 x 10-23 J K-1 1.8 x 10-6

,�����"�� 0��0'"�����"� ���''#� 74 10π⋅ ⋅ N A-2 0 '"��3��� ��� ��%��

��$��� "���)�"�� ' ���''#' 299 792 458 m s-1 0 '"��3��a ��� ��%��

���)�����%�� ���"����� ���''#� 8.854 187 817...x 10-12 F m-1 0 
0���$����� ��"���

��%��"�

��������� 2��3 6.022 1415 x 1023 mol-1 1.7 x 10-7

,�)���� $�0��#��� ����)��� ��"�  

(273.15 K % 101.325 kPa)
22.413 996 x 10-3 m3 mol-1 1.7 x 10-6

,�"� �)������� 9.109 3826 x 10-31 kg 1.7 x 10-7

,�"� 0������ 1.672 621 71 x 10-27 kg 1.7 x 10-7

,�"� ��'����� 1.674 927 28 x 10-27 kg 1.7 x 10-7

���#"�� 3�����*� #�"� 1.660 538 86 x 10-27 kg 1.7 x 10-7

��)�%��� ������"� -�����*�
��)�����a "���������

��"��'���"�
��#�����

�)�#������� ���)�����"�-1� 1.602 176 53 x 10-19 C 8.5 x 10-8

�)������ - ��)� 1.602 176 53 x 10-19 � 8.5 x 10-8

������3��� ���"����� 96 485.3383 C mol-1 8.6 x 10-8

���2������ ���"����� R
∞

10 973 731.568 525 m-1 6.6 x 10-12

,�)���� #�"� '�������
12( )M C 12 x 10-3 kg mol-1 0 '"��3��� ��� ��%��

���������� �������*���� '2�$�1e 9.806 65 m s-2 0 '"��3��� ��� ��%��

����" /e m− $� �)������ -1.758 820 12 x 1011 C kg-1 8.6 x 10-8

����� #�����"��� &)'�"� 2.067 833 72 x 10-15 Wb 8.5 x 10-8
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�'�'+* �%,*%+ $ +%9 1"�,*%9 0'* �%#'&' ($' ,�($�# * 0) �'*-�%) 

�'* �%#'&
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N·m
-2

·10
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�) 3%6%1$a *�)&�*'

(0ºC -100ºC)

J·ºC
-1

kg
-1

10
3

�%$ '�$% +� 6%3%# $*

*�)&�*$�! 4%� .'     

ºC
-1

10
-6

�) 3%6%1$'

�*)��$�,*     

9m 10
-8

�&-0%$%#-0 2,70 6,6  - 7,2 2,8 0,900 22 2,65 

�$*%0�$ 6,68 8,0 2,0 0,209 11 40 

�'+'� 8,92 12,3 – 16,1 5 0,385 14 -18 1,673 

� *�$ 2,2 – 2,4 0,1 – 0,5  0,88 14  

���$2' 8,9 7,9 – 12,3 4,3 0,355 29 -32  

�'$'�%#-0 6,07 0,1 – 0,5  0,5  20,4 

��&6�'0 19,3 36 - 40 14,5 0,125 4 5,40 


"�78  7,86 20 8 0,444 12 9,71 

�'2$%

1 &%3%
7,8≈ 14,2 -21,6 / 3

Y
E≈ 0,44≈ 10 -  13  


 �0'$%#-0 5,35 13 5 0,305 6 0,46 ∗

��"� 0,1 – 1,2 0,3  - 1,6  2,5≈ 5≈   

�&'*� 19,3 8 2,9 0,129 14 2,35 

��%�%#-0 22,42 52   (max !) 13,5 0,13 6 5,07 

�'�0%#-0 8,64 0,5 0,2 0,23 29 – 32 7,24 

�'&'# 7,31 5,5 0,7 0,23 24 11.0 

�� 1.'+ 2,6 – 2,9   0,88   

��('&* 8,9 18 -  21 8 0,385 12 5,81 

�%" ,%"% 7,1 – 7,3 7,5 - 12 3 – 5 0,54 11  

�%"  3�" $% 8,6 8 3 0,38 18  

� ,%$! ≈ 8,4 7 – 12 3 – 5 0,38 17 -20  

��&%(� $ 10,2 33 17 0,27 5 5,34 

	%+& 8,9 19,3 8 0,44 14 6,84 
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N·m
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�) 3%6%1$a *�)&�*'

(0ºC -100ºC)

J·ºC
-1

kg
-1

10
3

�%$ '�$% +� 6%3%# $*

*�)&�*$�! 4%� .' ºC
-1

10
-6

�) 3%6%1$'

�*)��$�,*    

9m 10
-8

�&�"� 11,3 1,7 0,8 0,130 28 20,64 

�'&'�%#-0 11,97 11,5 5 0,25 11 10,5 

�&'*%$' 21,45 1,7  0,134 9 10,6 

       

�&-*' 0,2 - 0,3   1,9≈   

���%#-0 12,45 28  0,25 9 4,51 

�%&%3%#-0 2,33 11,6  0,71 7,8 640 
∗

�� (�� 10,49 8 2,7 0,234 20 1,59   (min !) 

�*'+&� 2,4 – 2,6 5 – 8 2 – 3 0,5 – 1,0 8 – 10 10 1410 10 ∗
−

�*'+&� - 

+"'�3$�
2,2 5 - 8 2 – 3 1,00 0,6    (min!) 7,5 

1610⋅
∗

�%*'$ 4,51 10,3 3,5 0,61 9 42,0 

��'$ 19,05 20,8 4,8 0,12 13,9 28 

�!/ $%+ 1,5 – 2,5   0,720 1,3 – 8 1000≈

�!/ $%+

�%#'0'$*
3,52   0,502 0,8 

1610 ∗
≈

���0 7,14 25  0,46 6,8 12,7 

�%$+ 7,14 10 - 13 3,5 0,39 30 5,964 
∗
��&-)��"��$%3% %&% %2�&'*��%. 	' .%9  , $ ��$�,%  +,)�$ $*

810−


